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>>> import dgl

>>> import torch as th

>»> u, v = th.tensor([0, 1, 2]), th.tensor([2, 3, 4])

>>> g = dgl.graph((u, v))

>>> g.ndata['x'] = th.randn(5, 3) # JREAEHEECPU L

>>> g.device

device(type="cpu')

>>> cuda_g = g.to('cuda:0') # 2ok B S i hE S AT ] B A B
>>> cuda_g.device

device(type="cuda', index=0)

>>> cuda_g.ndata['x'].device # FPOEECRE W VL3 T 6PU L
device(type='cuda', index=0)

>>> # HGPUTKE G ) B thfEGPU L

>»> u, v = u.to('cuda:0"'), v.to('cuda:0")
>>> g = dgl.graph((u, v))

>>> g.device

device(type="cuda', index=0)

Eﬂ; K GPUBEIRIIR/EEREEGPU_HIZ1TAY., EI, XERTAKESEEE R IEGPU
I, BEEREEKEMIEEGPU L, IS, GPUBRESGPU_ERSIEEEE,

>>> cuda_g.in_degrees()

tensor([0, ©, 1, 1, 1], device='cuda:0')

>>> cuda_g.in_edges([2, 3, 4]) # WD AEK SRS 4L
(tensor([0, 1, 2], device="cuda:0'), tensor([2, 3, 4], device="cuda:0'))

>>> cuda_g.in_edges(th.tensor([2, 3, 4]).to('cuda:0")) # KEEMKSELIEGPU L
(tensor([0@, 1, 2], device="cuda:0'), tensor([2, 3, 4], device="cuda:0'))

>>> cuda_g.ndata['h'] = th.randn(5, 4) # ERROR! FHEH.LAZEGPU | !
DGLError: Cannot assign node feature "h" on device cpu to a graph on device
cuda:@. Call DGLGraph.to() to copy the graph to the same device.
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